o|J

0|
olig
Nfo

ojn

@ V9 &= Fegeelth

@ 3.14 = FE$oltt,

A



2.

4V5+3V20 - Va5 = A5 & o, A 9

*e?



0g 195 2L A4uA g BE nAz
o] ol e] & ol

D 12V3 @ 2443 3 323
@ 36V3 O 423




=

oo

T A2olE v

s
Y
rlo

2

®© ma+mb—m=m(a+Db)

@ 64a® + 32ab + 4b* = (8a + 2b)?
® —4a® + 9b*> = (2a + 3b)(2a - 3b)
@ x> -5x-6=(x-2)(x-3)

® 2x* = 5xy 4 3y* = (x - 3y)(2x —y)



® 2x-3

@ 2x+3

D 2x

® 2x(x-3)

@ 2x?



8
11

0.0001

oL
121
0.01

@ -
@



7.

a>0,b<0%2 W, /(2a)2+ /(-a)% - /(5b)% & et

@D a-5b @ a+5b ® 3a-5b

@ 3a+5b ® 5a-5b



8. O9VTIE = AGE, 6v5= VB U, B4 9 e FohE?

D 144 @ 145 ® 146 @ 147 ® 148



rd
ke
i

9. AFZ9 ol &2k \a=17.563, Vb ="7.436 & o, T+ A&
0|85t a - b 9] S FstoiEt

- 0 1 2 3

99 7.416 | 7.423 | 7.430 | 7.436

o6 | 7.483 | 7.490 | 7.497 | 7.503

o7 7.550 | 7,856 | 7.563 | 7.570

58 7.616 | 7.622 | 7.629 | 7.635

Era-b=



10.

9x% — (m - 5)xy + 64y* o] AN FA 0] El=m o] F=2]

il

53



S AL g b ot a—b <0, ab < 0 QD T, Va2 — 6ab + 952 —
Va? = 2a + 1 & 75| 512

DO -2a-1 @ 3p-1 ® 3b+1

@ —2a+3b-1 ® 2a+3b+1



12, T oA a2 —ax—12, 3x2 - 13x— b 9
ab 9| k& Fstofzt

a‘giabzi



13. x-1 9] 3x?
—ax—-4 9] 15-d 0, 4 9
2 o, = otofet

=



14, (x+2)2-(x+2)(y-1)-6(y—1)2& I5E3lstH?

@ (x+3y-1)(x-2y+4) @ (x+2y+4)(x-3y)
® (x+3y)(x—-2y) @ (x-3y+5)(x+2y)

® (x=3y—-4)(x-2y+1)



15. o2 5 4x% - 9y? —30y-25 9] Q157 & &

[&‘:9
rr

Y
tlo

4n

fk

@ (2x+3y+5)
© (2x-3y+5)
© (2x-3y-5)
@ (2x+3y+5)(2x-3y-5)

@ (2x+3y-5)(2x—3y+5)

D R
3%
D R

=%



16. 5rty=15 2 0, VI Ty 7t 4947} S Thes b e Aels

x+=7

@1 @ 2 ® 4 @7 ® 9



17.

O —x?

@ -x

o

= ALY
1

@ —=
X



@ a®-b?

o[

®© va+b
@ ab



19. 193} o] 3 Wo] Zo|7} 491 A7 ABCD ©| thzHi BDE o
Mo 2 5k AAZFE DBEF 7} 9t DBEF o] thA1S w202
She 910] Sojj0] o2 Tatolat
F
D C E
A B



20.

VIS+3T VI5-2F5 E 454, 2VTH3V2-1 35 22 55 bty
S, b-a o TS F5HH?

@ 4 @ 2 ® 0 @ -2 ® -4



V2

21- 1 X m= O L —’]
=] ’
—’] 14-
11 A re) kY HH 1 \[f!
o 1
AN
1
\/_5 ¢ i

\/_ R
7\/3 HM = ©
.a+b %1\
b];] Oﬂr_‘l— [e) J ?_']_of'
a-‘

Be
ca+b=



22.
2 6«/Ex2x/§+9x/§=32x/6xﬁ;A°1
5 A o], A & 5}z

B ea=



23.

at V3.3+bVE o Gt Fol W f257 HE S S FE%a, b
o g Fatodat,



24. xO-19 %+ 1o i m ol B 5 Y= A2?

D1 @ 2 ® 4 @ 6



25.

® 2xy

A o, thg AL 2] 5hA?

lxy = yzl = v/ (vz = x2)2 + Iyl + 4/ (x2)?

@ xy ® —xy @ -xz

® —2xy



26.

a>0,b>00°|1, ab = 16, Va -

a+b 9 L& Fotefer,

L Eiatb=

B



27. A=4x+2, B=6x>-5x-40°]a
o g o2

=ax+b 2 HEIW o] A |, ab

> | &

@® -3 @ -5 ® -7 @ -8 ® -9



F AT a, b7V a?+ab+b* =17, a* —ab+b* = 3= A
Shojzt

o, (a+b)* 9 g+

28.



29. a-b=5ab=-6 <L W, a®-b3-0a’b+ab® Y F= F5t4=}

D L
=%



